Suggestions for Internal Assessment
B.Com Sem 1 ( Hons & Gen).
Microeconomics 1

: pemand curve has :
(a) positive slope (b) negative slope
(c) zero slope (d) none of these.
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. Demand depends on :

(a) price

(b) time
(c) desire of human being

(d) all of these.
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. Which of the following factors not influ-
encing demand?

(@) price of the commodity

(b) income of the consumer
(c) location of business

(d) taste and preference of consumer.
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4. Elasticity of demand are of the following
types:
(a) price elasticity (b) income elasticity
(c) cross elasticity (d) all of these.
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5. Which of the following is not the excep-
tion to law of demand?

(a) speculativemarket (b) giffen effect
(c) price of substitutes (d) luxury product.
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- 6. Which of the following are the factors of
elasticity of demand?

(a) nature of the commodity

(b) extent of use
(c) durability

(d) all of these.
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10. As per the law of equimarginal return the

7. The concept of consumer surplus was in-
condition of consumer equilibrium will

troduced by
(a) Marshall (b) Hicks be:
(c) Clerk (d) Keynes. : MU MU
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The concept of indifference curve was in- MU
troduced by : (c) M = MU
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9. Which of the following is not the features MU MU
of Indifference curve? (@) P = P = MUM
(a) always sloping downward from left to right ) ;
(b) convex to the origin MU MU
(c) concave to the origin (b) “p ok P Bt ",
(d) two indifference curve cannot intersect ) '
each other. MU
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11. AFC curve .
(a) downward sloping (b) upward sloping

(c) U shape (d) horizontal.
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1». Minimum point of AVC curve is called as:

(a) no loss no profit point

(b) shut down point
(c) minimum loss point

(d) none of these.
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13. LAC curve Is :

(a) U-shape (b) horizonal

(c) vertical (d) none of these.
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14. i
Which curve is called envelope curve?

(@) SAC curve (b) AVC curve
(¢) LMC curve  (d) LAC curve.
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15. AVC + AFC = ?

(a) AC (b) MC

(c) TC (d) TFC.

16. When ACC is minimum then MC is :
(a) greater than AC(b) less than AC
(c) equal to AC (d) zero.
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17. TFC curve will be :

(a) Horizontal (b) upward rising

(c) convex (d) concave.
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18. The short run AC will be :

(a) U- shaped

(b) upward rising
(c) downward sloping

(d) concave.
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(c) MC is minimum
(d) MR intersects the AC.

19. The second order or sufficient condition W@Q'PWWW@ (AR AT —

for maximisation of profit of a firm in a (a) AC BTk
tly competitive market is :
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20. If a firm stop its production in the short (c) P < AVC (d) aﬂwmﬁi‘m

run, the amount of its total cost will be
(@) total variable cost

(b) average variable cost

23. When AC is minimum then:
(@) MC < AC (b) AC < MC

(¢) total fixed cost (c) AC = MC (d) None of these.

[d) average fixed cost. I AC F_AH oiq —
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(b) mmﬁ%w Total Cost is called as :

(©) G oz 2y (@) gross profit  (b) net profit

(d) T feig gy () normal profit (d) none of these.
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26. |lsoqua
of origin whe
tion (MRTS) is:

(@) increasing
(c) constant

(b) diminishing
(d) none of these.

* BeAH m@ﬁ@ﬁw%@ﬁmw

(a) TR (b) FRRETI
(c) T (d) R TR |

27. Two isoquants curve .
(a) can intersect each other

(b) can not intersect each other
(c) parallel to each other

(d) none of these.
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28. A higher isoquant represent :
(@) larger output (b) lesser output

(c) equal output (d) none of these.
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29. Isoquant curve are:
(@) positively sloped (b) negatively sloped

nt curve will be convex to the point |
n marginal rate of substitu-

(c) zero sloped  (d) none g he N
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(a) There are only two factorg 01.
i @. Labour & Capital pr

(b) Factors of production are s
small units visi

(c) T_echnlcal conditions of PdeucﬁQn
given

(d) All of these.
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30. The condition of equilibrium produci
is :

(c) MPL+W=MPk+r
(d) MF’L+W¢MPK+r.
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